
NAT II Physical Science Verbal

Sr Questions Answers Choice

1 Normally an individual thunderstorm _____ about 45 minutes
A. Lasts
B. Ends
C. Remains
D. Continues

2 A legislation was passed to punish brokers who _____ their clients funds
A. Defalcate
B. Devastate
C. Devour
D. Embezzle

3 There is no incentive for America to sign the treaty since there is every reason to _____ no
other nation intends to honour its provisions.

A. Regret
B. Inform
C. Believe
D. Occupy

4 Salma is much too _____ to have anything to do with that abnoxious affair.
A. Noble
B. Proud
C. Happy
D. Difficult

5 Knowledge is like a deep well fed by ______ springs and your mind is the little bucket that
you drop in it

A. External
B. Perennial
C. Immortal
D. Inehaustible

6 The driver suddenly applied the braked when he saw a _______ truck ahead of him
A. Stationary
B. Moving
C. Static
D. Immoble

7 We lost confidence in Salim because he never ______ the grandiose promises he had made
A. Tired of
B. Delivered on
C. Retreated from
D. Forget about

8 He is so lazy that he

A. Cant delay the schedule of
completing the work
B. Cant depend on others for getting
his work done
C. Always extends help to others to
complete their work
D. Can seldom complete his work on
time

9 Whichever way you approach the problem
A. It will not solve
B. It will not be solved
C. No one will not solve it
D. It will not be solve

10 The doctor warns him that unless he gives up smoking
A. His health will soon be recovered
B. He will not recover
C. Will he be able to recover
D. He will not suffer


